VENDOR LOT SUMMARY

Bid No. 9969-10-Q

Bid Title: Complete Landscape Maintenance of Coronado View Maintenance

Assessment District

Closing Date - August 2, 2010 Closing Time: 5:00 p.m. P.S.T. Buyer: Frank Moreno, CPPB

CPC: cnn

Bid Tab by : Celia Navarro

VENDOR	ADDENDUM A	CASH DISCOUNT TERMS	TOTAL BID	DISCOUNT AMOUNT	FINAL BID TOTAL
PONDEROSA LANDSCAPE, INC.	N/A	20/0%	\$7,273.75	\$0.00	\$7,273.75
NISSHO OF CA, INC.	N/A	40/2%	\$8,868.04	\$177.36	\$8,690.68
ACACIA LANDSCAPE	N/A	20/5%	\$9,391.08	\$469.55	\$8,921.53
AZTEC LANDSCAPING, INC.	N/A	20/1.5%	\$10,165.50	\$152.48	\$10,013.02
PRECISION LANDSCAPE MAINTENANCE INC.	N/A	20/6%	\$12,134.24	\$728.05	\$11,406.19
ARTISTIC SOLUTIONS LANDSCAPING	N/A	20/3%	\$11,828.00	\$354.84	\$11,473.16
LANDCARE LOGIC	N/A	20/15%	\$13,744.72	\$2,061.71	\$11,683.01
MERCHANTS	N/A	NET 30	\$12,564.80	NET	\$12,564.80

BIDS MAILED: 22
BIDS RECEIVED: 8

ABBREVIATION KEYS:

N/A - NOT APPLICABLE

VENDOR: ACACIA LANDSCAPE

I. PRICING PAGE

A. CORONADO VIEW

				Total Cost Per	Total Cost	Per
Category	Est. Qty	U/M	Description	Month	Year	
VI	43,560	SQ FT	Slopes Adjacent to Rights-of-Way Landscaped with Trees, Shrubs and Groundcover	\$486.32	\$5,83	35.88
XI	14,000	LIN FT	Gutters	\$96.26	\$1,15	55.20
TOTAL SECTION A:			\$6,99	91.08		

C. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
150	HR	Extraordinary Labor	\$16.00	\$2,400.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$9,391.08

VENDOR: AZTEC LANDSCAPING INC.

I. PRICING PAGE

A. CORONADO VIEW

				Total Cost Per	Total Cost	Per
Category	Est. Qty	U/M	Description	Month	Year	
VI	43,560	SQ FT	Slopes Adjacent to Rights-of-Way Landscaped with Trees, Shrubs and Groundcover	\$548.94	\$6,58	37.30
ΧI	14,000	LIN FT	Gutters	\$98.18	\$1,17	78.20
TOTAL SECTION A:			\$7,76	55.50		

C. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
150	HR	Extraordinary Labor	\$17.50	\$2,400.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$10,165.50

VENDOR: ARTISTIC SOLUTIONS LANDSCAPING

I. PRICING PAGE

A. CORONADO VIEW

				Total Cost Per	Total Cost	Per
Category	Est. Qty	U/M	Description	Month	Year	
VI	43,560	SQ FT	Slopes Adjacent to Rights-of-Way Landscaped with Trees, Shrubs and Groundcover	\$697.92	\$8,37	75.00
ΧI	14,000	LIN FT	Gutters	\$100.25	\$1,20	03.00
TOTAL SECTION A:			\$9,57	78.00		

C. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
150	HR	Extraordinary Labor	\$15.00	\$2,250.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$11,828.00

VENDOR: LANDCARE LOGIC

I. PRICING PAGE

A. CORONADO VIEW

				Total Cost Per	Total Cost	Per
Category	Est. Qty	U/M	Description	Month	Year	
VI	43,560	SQ FT	Slopes Adjacent to Rights-of-Way Landscaped with Trees, Shrubs and Groundcover	\$729.71	\$8,75	6.46
XI	14,000	LIN FT	Gutters	\$135.06	\$1,62	20.76
TOTAL SECTION A:			\$10,37	77.22		

C. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
150	HR	Extraordinary Labor	\$22.45	\$3,367.50

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$13,744.72

VENDOR: MERCHANTS LANDSCAPE SERVICES, INC.

I. PRICING PAGE

A. CORONADO VIEW

				Total Cost Per	Total Cost	Per
Category	Est. Qty	U/M	Description	Month	Year	
VI	43,560	SQ FT	Slopes Adjacent to Rights-of-Way Landscaped with Trees, Shrubs and Groundcover	\$677.67	\$8,13	32.00
XI	14,000	LIN FT	Gutters	\$144.40	\$1,73	32.80
TOTAL SECTION A:			\$9,86	64.80		

C. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
150	HR	Extraordinary Labor	\$18.00	\$2,700.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$12,564.80

VENDOR: NISSHO OF CA, INC.

I. PRICING PAGE

A. CORONADO VIEW

				Total Cost Per	Total Cost	Per
Category	Est. Qty	U/M	Description	Month	Year	
VI	43,560	SQ FT	Slopes Adjacent to Rights-of-Way Landscaped with Trees, Shrubs and Groundcover	\$435.11	\$5,22	21.28
ΧI	14,000	LIN FT	Gutters	\$97.64	\$1,17	71.76
TOTAL SECTION A:			\$6,39	93.04		

C. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
150	HR	Extraordinary Labor	\$16.50	\$2,475.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$8,868.04

VENDOR: PONDEROSA LANDSCAPE, INC.

I. PRICING PAGE

A. CORONADO VIEW

				Total Cost Per	Total Cost	Per
Category	Est. Qty	U/M	Description	Month	Year	
VI	43,560	SQ FT	Slopes Adjacent to Rights-of-Way Landscaped with Trees, Shrubs and Groundcover	\$321.17	\$3,85	54.00
ΧI	14,000	LIN FT	Gutters	\$97.48	\$1,16	69.75
TOTAL SECTION A:			\$5,02	23.75		

C. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
150	HR	Extraordinary Labor	\$15.00	\$2,250.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$7,273.75

VENDOR: PRECISION LANDSCAPE MAINTENANCE INC.

I. PRICING PAGE

A. CORONADO VIEW

				Total Cost Per	Total Cost	Per
Category	Est. Qty	U/M	Description	Month	Year	
VI	43,560	SQ FT	Slopes Adjacent to Rights-of-Way Landscaped with Trees, Shrubs and Groundcover	\$624.17	\$7,49	90.00
XI	14,000	LIN FT	Gutters	\$125.77	\$1,50	9.24
TOTAL SECTION A:			\$8,99	9.24		

C. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
150	HR	Extraordinary Labor	\$20.90	\$3,135.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$12,134.24